Assembly Instructions/Odnyieg ZuvapuoAoéynong

Hardware/llapshkopeva

A - Allen KeyM4 -~ 1|pe/rep
B - Plastic Dowel ~ 24 |pesitep
C - JCBC W Screw MBx40 = | glnesirey
D - Mini Fix Balt G 14|pcsitep
E - Mini Fix Housing @ 14 |pcsitep
F - Mini Fix Cap CBY | 14|peshep
5 - 5/8 Hinge % B|pcs/Tep
H - Drawer Slide 14" BRI

| - CSK Screw M4 x 50 G| 15| pesirey
J - CSK Screw M4x20mm ( Black)  — 4{pcsitep
K - CSK Screw M 3.5 x 16mm | g 56|pcsitep
L - JCBC Screw M6x50 + M6 Flat Washer @f:f}- 4|pesitep
M - Lbracket ﬁ 4|pcsitep

Part ListtAiota Mepuwv Quantity/MooodtnTa
1 |Top Panel / MNéavw katTak 1 pciTep
2 |Left Side Panel /ApioTepd TAavd Kat@xl 1 pciTep
3 |Right Side Panel /AgEi mAavd kamdkl 1 pciTep
4 [Left Middle Panel /Apigtepd peoaio katrék 1 pciTep
5 |Right Middle Panel /Asfi peoaio kKatmak 1 pciTep
6 |Center panel / Kevipikd katéakl 1 pciTep
7 |Bottom Panel / Mérog-kamdk 1 pciTep
8 |Back panel / MAdrn-Triow kamdkl 1 pciTep
9 |Metal legs / MeTahhikd adia 2 pcitep
10 [Metal support legs / Metahhikd média atipitne 2 pciTep
11 |Left Door Panel /ApioTepd kammdk mpTag 1 pciTep
12 |Small Right Door Panel MMikpd Asti karrak mdpTag 1 pciTep
13 [Small Left Door Panel IMikpd ApioTepd KatTdkl TOpTaC 1 pcitep
14 |Drawer Front Panel / MmpooTivé Katdkl gupTapiod 1 pciTep
15 |Drawer Side Panel (L} / Nhawd kamdk ouptapiod (A) 1 pciTep
16 |Drawer Side Panel (R} / Mhawd kamak ouptapiod (A) 1 pciTEpd
17 |Drawer Back panel / Migw kamdkl guptapiod 1 pciTepd
18 |Drawer Bottom panel / MNartog qupTtapiod 1 pciTep




Step/Brjpa 1

Step/BApa 2




Step/BAua 3

Step/Bijua 4




Step/BApa 5

\

Step/Brjpa 6

‘Ero1 AsiToupyei éva
mini fix...

H kepaAn Tou
TePIBAAMATOg mini fix
JTTaivel 0To avoixXtd OTOUIO
Tou pTTouAovioU mini fix.
21N ouvExela, TUNYETE TO
TePiBANa mini fix €101
WOTE va oQiyyel TTavw atmo
TO MTTOUAGVI mini fix.

This is how a mini fix works...

The head of the mini fix
housing goes into the open
mouth of the mini fix bolt.
You then turn the mini fix
housing so it tightens

over the mini fix bolt.

N

%

*Attach Minifix Cap as shown./
2Zuvdéore o kamraki Minifix 6mwc¢ @aiverai..




Step/BApa 7

Attach Minifix Cap as shown./
Zuvdéare To kamraki Minifix 6mwg gaivera..

This is how a mini fix works...

o The head of the mini fix
:A@é‘ ‘ housing goes into the open
) mouth of the mini fix bolt.
You then turn the mini fix
housing so it tightens
over the mini fix bolt.

&

‘Evo1 Asitoupyei
éva mini fix...

H ke@aAn Tou
TePIBAAMATOg mini fix
JTTaivel oTo avoixto
OTOMIO TOU
uTTouAovioU mini fix.
2Tn OuvEXela, TUNIYETE
10 TrEPIBANUA mini fix
£T01 WOTE VO OQPiyyel
Tavw aTré To
MTTOUAGVI mini fix.

Step/Brijpa 8

"ETo1 AgiToupyei éva mini fix...

This is how a mini fix works...

The head of the mini fix
housing goes into the open
mouth of the mini fix bolt.
You then turn the mini fix
housing so it tightens

over the mini fix bolt.

A\V A

H ke@aAr) Tou mepIBARpaTog mini fix ptaivel oto avoixto
OTOMIO TOU pTTOUAOVIOU mini fiXx. £Tn Ouvéxela, TUAIYETE TO
mepiBAnua mini fix €101 woTe va o@iyyel TTAvw ammod TO
MTTOUAGVI mini fix.

(S

‘Attach Minifix Cap as shown./
Zuvdéare 1o kamraki Minifix omwg @aiverai..




Step/Brijua 9

This is how a mini fix works...

The head of the mini fix
housing goes into the open
mouth of the mini fix bolt.
You then turn the mini fix
housing so it tightens

over the mini fix bolt.

‘Exoi AsiToupyei éva mini fix...

H ke@aAr Tou 1TepIBAApaTOG mini fix
MTTaivel 0TO avoixTé aTéHIo TOU
pTTouAovioU mini fix. ZTn ouvéxeia,
TUAiyeTe TO TTEPIBANUA Mini fix £€T01 WoTE
ya o@iyyel TTdvw atd 1o PTToUAGVI mini fix|

‘Attach Minifix Cap as shown./
Zuvdéarte 1o Kamrdki Minifix 6mwg eaiverai..

Step/BAua 10




Step/BApa 11

Step/Biua 12




Step/BApa 13

BACK VIEW

Step/BAua 14




stment
PUBpion Tou eptTpdG-Triow

Front to Front Adju

Step/Brua 15

Lateral Adjustment
MAgupikr PUBuiIon

stment
PUBpion Tou gptTpdG-Triow

Front to Front Adju

Step/BAua 16




Step/Brua 17

This is how a mini fix works...

Steple]uq 17 1 The head of the mini fix

housing goes into the open =

mouth of the mini fix bolt. L%~
You then turn the mini fix

housing so it tightens

over the mini fix bolt.

Step/BAua 18

Step 18.1 Step/Brijpa 18.2

Back View
Miocw 6yn




Miocw 6yn

Step/Brijpa 19
Step/Brija 20




Odnyisc ouvTRPNOoNC Kal @POVTIOAC ETTITTAOU

- OAa 1a £TTITTAQ TTPOOPICOVTal VIO XPrON O€ ECWTEPIKO XWPO.
- Na Tnpouvtal cwoTd o1 0dnyieg cuvapuoAdynong yia TNV KAAUTEPN 0TABEPATNTA TOU ETTITTAOU.

- Kavte éAeyxo oTOoUG OUVBETHOUG Kal TIG Bideg avd TakTd xpovika diacTriuarta. OAeg o1 Bideg
TTPETTEN va €ival KAAD BIOWEVEG.

- MNa ™ yun ocwoThH cuvapuoAdynon Kal Xprion Tou €TTITTAOU N eTaIpia pag € QEpEl Kauia eubuvn.

- MpooTabnoTe va PNV UTTEPPOPTWVETE Ta pA@Ia A Ta cupTdapIa yiaTi ETTIBapUvovTal Ol
MNXQVIOMOI Kal N oTaTIKA dOJN Tou TTITTAOU, evw OTav BAETTETE OTI UTTAPXOUV dUO TTOMOAQ TOTE
XPNOIJOTTOIEIOTE Kal Ta U0 0aG XEPIA VIO VA avVoigeTeE OuaAd To cupTdpl, BIOTI €10IKA av gival
QOPTWHEVO TO OUPTAPI, EVOEXETAI Va dnuioupynBei BAGBN OTOUG UNXAVIOUOUG ) Kal o€ GAAQ
MEPN TOU CUPTAPIOU KAl TOU ETTITTAOU YEVIKOTEPA, KOBWGS TO QOPTIO TOU ETTITTAOU £TTNPEACE! KAl
OTnNV OUVOAIKA @Opa TOU, OTTOTE PTTOPEI va ETTEADEI TTAPANOPPWON.

- Otav peTaKIVEITAI TA ETTITTAQ, AVACNKWOTE TA KAl ATTOQPUYETE VA TA CUPETE YIATI £T01 JTTOPOUV
va TTPoKANBoUV pBopEC oTo TTATWHA Kal OTa id1a. XpNOIUOTIOIWVTAG TOOXAKIO WTTOPEITE va
TTPOOTATEWETE TNV ETTIPAVEIQ TOU TTATWHATOS 0AG ATTO UIKPOPOOPEG.

- O KoBapIoPOG Tou TTITTAOU 0ag TTPETTEI va YiveTal JE BapBakepd vwTTd KOAG OTUUUEVO
U@aopa. KaBapioTe Ye Yo OTEYVN TTETOETA TNV TTEPICOEIN UYPATIa TTAVW ATTO TO TTPOIOV, KABWGS
UTTAPXE! KiVOUVOG TUAMATA TOU ETTITTAOU VA EUTTOTIOTOUV KAl VA (POUCKWOOUV.

- Mnv xpnoiyoTrolciTe TTPOIGVTA TOU EUTTOPIOU 1) KABAPIOTIKA PE XNMIKF oUvBeon yia Tn
OUVTHPNON KAl TOV KABaPIoPO Twv ETTIQAVEIWY YIOTI gival TIOavo auTég va TTPOKAAECOUV
OANOIWOCEIG KAl ATTOXPWHATIONS OTRV ETTIQAVEIQ.



Furniture maintenance and care instructions

- All furniture is intended for indoor use.

- Follow the assembly instructions correctly for the best stability of the furniture.

- Check the connectors and screws at regular intervals. All screws must be securely tightened.
- Our company bears no responsibility for improper assembly and use of the product.

- Try not to overload the shelves or drawers because the mechanisms and the static structure of
the furniture are burdened, and when you see that there are two handles, then use both your
hands to open the drawer smoothly, because especially if the drawer is loaded, damage may
occur to the mechanisms or other parts of the drawer and the furniture in general, as the load of
the furniture also affects its overall form, so deformation may occur.

- When moving the furniture, lift it and avoid dragging it because this can cause damage to the
floor and the furniture itself. Using felts you can protect the surface of your floor from minor
damage.

- Cleaning your furniture should be done with a fresh, well-wrung cotton cloth. Wipe off excess
moisture from the product with a dry towel, as there is a risk that parts of the furniture will soak
and swell.

- Do not use commercial products or cleaners with a chemical composition for the maintenance
and cleaning of the surfaces because they are likely to cause changes and discolouration of the
surface.





